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(1) R (o) Y THOERKICELY o = 3.00 N/mf
(2) B & 98 (m)
m = 0.85-SL + 30 = 29.4 N/mf
o 30 o 2
m = SL + 2-0 = 30.0 N/mf
Xo>T m = 30.0 N/umf
(3)KkEAXA L FEE(W/C) m = -16.20 + 27.10 X C/W
W/C = 27.10 = (30.0 4+ 16.20) X 100 = 58 % = (60%(L5E1 )]
“W/C = %
(4) BfprKE (W) YT OERIC ot@ W = 157 ke /mi
(5)HAM AL FE(C) C =W + (W/C) X 100 = 157 = 58 X 100 = 271 kg/m
Cv= C + ZJF = 271 - 3.04 = 89 2 /m
(6) 2855 (A) A = 4.5 % X 1000 = 45 2/
(7)BEMHEME(G) YUILOEFKICEY NEIFME = 0.632 mi/m ERER = 63.0 %
Gv = 0.632 X 1000 X 63.0 = 100 = 398  #/m
Glv = Gv X 20.0 % = 80 2 /m Gl= GIvXEHEE = 80 X 2.72 = 218 kg/m
G2v = Gv X 30.0 % = 119 2/m G2= GUXFEWEE = 119 X 2.72 = 324 keg/m
G3v = Gv X 50.0 % = 199 2 /m G3= G3vXEWEE = 199 X 2.72 = 541 kg/m
(8) HALAHEH & (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 689 = 311 #¢/m
Slv = Sv X 50.0 % = 156 £ /m S1= SIvXFEEHEE = 156 X 2.66 = 415 kg/m
S2v.= Sv X 50.0 % = 155 2 /m S2= SoyXFEWEE = 155 X 2.66 = 412 kg/m
(9)MEM=E(s/a) s/a = Sv ~ (Gv+Sv) X 100 = 43.9 %
(10) BANFEFnA & (Ad) Ad = C X IzE = 271 X 0.600 % = 1.63 kg/m
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